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Section 26:  Motivations for Birth Control—Audio CASI

Section 26 is administered only to respondents who report having had sexual intercourse or who are at least 15 years old.  It
deals with perceived barriers to the use of contraception.

The questions that follow ask about your feelings on the use of birth control.

This section is administered if SEX or if AGE $ 15.
How much do you agree or disagree with each of the following statements?

1. In general, birth control is too much of a hassle to use. H2BC1 num 1

845 1 strongly agree

731 2 agree

1794 3 neither agree nor disagree

3353 4 disagree

5677 5 strongly disagree

92 6 refused

2156 7 legitimate skip

90 8 don’t know

2. In general, birth control is too expensive to buy. H2BC2 num 1

598 1 strongly agree

851 2 agree

2642 3 neither agree nor disagree

3699 4 disagree

4574 5 strongly disagree

86 6 refused

2156 7 legitimate skip

132 8 don’t know

3. It takes too much planning ahead of time to have birth control on
hand when you’re going to have sex. H2BC3 num 1

631 1 strongly agree

808 2 agree

2357 3 neither agree nor disagree
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3777 4 disagree

4786 5 strongly disagree

95 6 refused

2156 7 legitimate skip

128 8 don’t know

4. It {IS/WOULD BE} too hard to get a {GIRL/BOY} to use birth
control with you. H2BC4 num 1

556 1 strongly agree

670 2 agree

2677 3 neither agree nor disagree

3986 4 disagree

4470 5 strongly disagree

91 6 refused

2156 7 legitimate skip

132 8 don’t know

5. For you, using birth control {INTERFERES/WOULD
INTERFERE} with sexual enjoyment. H2BC5 num 1

591 1 strongly agree

1016 2 agree

2925 3 neither agree nor disagree

3456 4 disagree

4330 5 strongly disagree

103 6 refused

2156 7 legitimate skip

161 8 don’t know

6. It {IS/WOULD BE} easy for you to get birth control. H2BC6 num 1

4155 1 strongly agree

3502 2 agree

2646 3 neither agree nor disagree
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1045 4 disagree

1012 5 strongly disagree

85 6 refused

2156 7 legitimate skip

137 8 don’t know

7. Using birth control is morally wrong. H2BC7 num 1

502 1 strongly agree

424 2 agree

2342 3 neither agree nor disagree

3538 4 disagree

5592 5 strongly disagree

81 6 refused

2156 7 legitimate skip

103 8 don’t know

8. If you used birth control, your friends might think that you were
looking for sex. H2BC8 num 1

864 1 strongly agree

1384 2 agree

3658 3 neither agree nor disagree

3081 4 disagree

3368 5 strongly disagree

95 6 refused

2156 7 legitimate skip

132 8 don’t know


